Bio-Science - 02
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What is cell division? Describe its types.

3R - hifRAenT fasT (Cell Division) -

hifAehT fA9TTeT= Ten Ut ufchar 8, [Saeh siavid anifrenrd fawfSia glas o= S
3 hifAentatt ant AATOT Rt &

Y pIfAATY 70T 3R SRR H Teh GHH gldt &1 THT 0T JTelt Teh THT ITRR <h
ShIfRARIT MUY H AR Srcleh ST &1

Rk farenTe g TR hifRYehT & 3MehR H gfeg Teh Riga diAr aes gidt 81 T kg 9
foerfaa 81 IR &1 hifRrenT faafSia gidt 81

hITRAeRT fAHTST hT HTaTehdT hIfAATS o Hd T AE g4 o I WR 7S hifAchT3l
& fAHfor & forg gt 8|

TE g8 hIARTST o T WR 78 ARSI hl RATYAT HeA & fely nlfAenrat o
ST g1 Srmasges &, htfAhT3 ot i &) UehR & giat -

Cell division is a process in which cells divide and form new cells like
themselves.

These cells are similar in properties and size. Cells of similar size with
similar properties combine together to form tissues.

During physical growth, the size of the cell increases to a certain limit. The
cell divides only when it is fully developed.

Cell division is required to form new cells in place of dead or destroyed
cells.



Division of cells is necessary to establish new cells in place of destroyed
cells. Division of cells occurs in two ways-

A. T fa9re (Mitosis Division)
B. 3refeat fayrstT (Meiosis Division)

A. TEAT fa9re (Mitosis Division) -
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In this process of division, two daughter cells of same size with similar
properties are produced. This type of division occurs in somatic cells.

The somatic cell gets established in place of the destroyed cells. There are
four stages of this division-

1. gaier=aT (Prophase)

2. A1aRIT (Metaphase)

3. UYTaRIT (Anaphase)

4. TR (Telophase)
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B. 3t faTs (Meiosis Division) —
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Meiosis cell division occurs only in mature cells (egg and sperm), these
cells are called sex cells or gametes.

These cells contain 23 pairs of chromosomes (46 chromosomes).
Whenever the process of fertilization begins, a zygote cell is formed.

This zygote contains a total of 46 chromosomes (23 chromosomes of
sperm and 23 chromosomes of ovum).

The division of this zygote cell occurs by somatic mitosis.

Q. Sraifreht gd feir MyiiRd uRga o gid €2 aHesul

What is heredity and sex determination chromosome? Explain.
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Mosomes (chromosomes) are thread-like structures inside the nucleus of a
cell.

These structures contain genetic properties which are transmitted to the
offspring.



Males have sperm cells and females have ovum cells. These are
reproductive cells, i.e. they contain a pair of 23 chromosomes. That is,
there are two sets of 23 chromosomes.

In women, both chromosomes are of the same size and are called X
chromosomes.

Men have both XY chromosomes which are relatively smaller.

Both men and women have a total of 46 chromosomes. Out of which 22
pairs i.e. 44 chromosomes are somatic (autosomes).

One pair is the chromosome for sex determination. When the ovum is
fertilized by the X chromosome of the sperm then the baby is a girl and if it
is fertilized by the Y chromosome of the sperm, then the baby will be a boy.



